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A-337

B.A. I Examination, 2015

Environment and Rashtra Gaurav

heÙee&JejCe Deewj je°^ ieewjJe
Time Allowed : 1½ Hours (90 Min.) ] [ Maximum Marks : 100

1. Which of the following is responsible

for the depletion of ozone layer?

(A) Carbon dioxide

(B) Ethane

(C) Sulphuric acid

(D) Chlorofluoro carbons

2. Trophic level are formed by

(A) Plants

(B) Animals

(C) Organisms linked in food chains

(D) Top consumers in food chains

3. Water is treated with chlorine to

(A) Increase oxygen content

(B) Kill germs

(C) Remove hardness

(D) Remove suspended particles

1. eqvecve ceW mes keâewve Dees]peesve hejle kesâ #eÙe keâe keâejkeâ
nQ-
(A) keâeye&ve [eÙekeämeeF[
(B)   FLesve
(C) meuHeäÙetefjkeâ Decue
(D)  keäueesjesheäueesjeskeâeye&vme

2. hees<eCe mlej efkeâmemes yeveles nQ
(A) heeohe

(B) peeveJej

(C) KeeÅe ßebKeuee ceW pegÌ[s peerJe

(D)  KeeÅe ßebKeuee kesâ GÛÛe GheYeesòeâe
3. peue keâe keäueesjerve mes DeefYeef›eâefÙele efkeâÙee peelee nw-

(A) Deekeämeerpeve keâer cee$ee yeÌ{eves nsleg
(B) keâeršeCeg ve° keâjves nsleg
(C) peue keâ"esjlee meceeheve nsleg
(D) efveueefcyele keâCeeW keâes nševes nsleg

Each question has four alternatives marked (A), (B), (C) and (D). You have to darken

the circle on your OMR Answer Sheet corresponding to the correct answer. Please

use Blue or Black Ball-Point Pen.

ØelÙeskeâ ØeMve kesâ efueS Ûeej efJekeâuhe (A), (B), (C) SJeb (D) efoS ieS nQ~ Deehekeâes Deheveer Dees.Sce.Deej. Gòej hegefmlekeâe

hej Gòej kesâ mener efJekeâuhe kesâ ieesues keâes keâeuee keâjvee nw~ ke=âheÙee veerues Ùee keâeues yeeue-hJee@Fbš hesve keâe ØeÙeesie keâjW~

Note: Answer all 100 questions from section-A and section-B.

veesš : KeC[-De leLee KeC[-ye kesâ meYeer 100 ØeMveeW kesâ Gòej oW~

   Section - A  : Environment

KeC[ - De : heÙee&JejCe

Booklet No.Roll No. _______________

OMR No. ____________
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4. 5th June is-

(A) World Forest Day

(B) World Earth Day

(C) World Environment Day

(D) World Food Day

5. Melanin protects us from-

(A) X-rays

(B) Infra red rays

(C) Visible rays

(D) UV rays

6. High BOD indicates

(A) Highly polluted water

(B) Less polluted water

(C) Less sewage

(D) Less microorganisms

7. Congress grass that causes allergy

is

(A) Parthenium hysterophorous

(B) Eichhornia crassipes

(C) Opuntia dilleni

(D) Sorghum halepens

8. The first nuclear explosion in India

took place at-

(A) Mumbai

(B) Pokhran

(C) Sriharikota

(D) Bangalore

9. Bhopal tragedy occurred due to a

highly toxic chemical, named-

(A) Methyl ethyl isocyanate

(B) Methyl isocyanate

(C) Methyl cyanate

(D) Ethyl isocyanate

4. 5 petve nw-

(A) efJeÕe Jeve efoJeme

(B) efJeÕe he=LJeer efoJeme

(C) efJeÕe heÙee&JejCe efoJeme

(D)   efJeÕe Yeespeve efoJeme

5. cesueeefveve nceejer j#ee keâjlee nw-

(A) X-efkeâjCe mes
(B) Fvøeâe js[ efkeâjCe mes
(C) ÂMÙe efkeâjCe mes

(D) Ùet Jeer efkeâjCe mes

6. GÛÛe yeer Dees [er oMee&lee nw-

(A) DeefOekeâ Øeotef<ele peue

(B)   keâce Øeotef<ele peue
(C) keâce Jeeefnle ceue
(D) keâce met#cepeerJeer

7. Suepeea GlheVe keâjves Jeeueer keâeQ«esme Ieeme nw

(A) heeLeeaefveÙece efnmšsjesheâesjme

(B)   DeeFkeâesefve&Ùee ›ewâmeerhesme

(C) DeesheefvMeÙee ef[uesveeF&

(D)  meesIe&ce nsueshesvme

8. Yeejle ceW ØeLece hejceeCeg efJemheâesš keâneB ngDee Lee-

(A) cegbyeF&

(B)  heesKejve

(C) ßeernjerkeâesše

(D)  yeQieueesj

9. Yeesheeue $eemeoer efkeâme Deefle neefvekeâejkeâ jmeeÙeve

keâer Jepen mes ngÙeer Leer-

(A) efceLeeFue FLeeFue DeeFmeesmeeÙevesš

(B) efceLeeFue DeeFmeesmeeÙevesš

(C) efceLeeFue meeÙevesš

(D)  FLeeFue DeeFmeesmeeÙevesš
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10. Biological magnification is the phe-

nomenon of-

(A) Increase in concentration of

Pesticides at successive trophic

levels.

(B) Increase in concentration of

sewage in water

(C) Increase in biological activity of

microorganisms

(D) Biodegradation of sewage

waste.

11. SO
2 
and oxides of nitrogen released

as automobile emissions are main

cause of -

(A) Acid Rain

(B) Global Warming

(C) Skin cancer

(D) Lung cancer

12. Which of the folloiwng is most likely

to perform photosynthesis?

(A) Omnivore

(B) Herbivore

(C) Deteritivore

(D) Autotroph

13. El-nino is related to –

(A) Thermal pollution

(B) Soil pollution

(C) Air pollution

(D) Noise pollution

14. Superbug that cleans oil spills in

oceans is

(A) Escherichia coli

(B) Bacillus thuringiensis

(C) Pasturella pestis

(D) Pseudomonas putida

10. pewefJekeâ DeeJeOe&ve efkeâme heefjIešvee keâes keânles nQ-

(A) Gòejesòej hees<ekeâ mlejeW hej keâeršveeMekeâ keâer

meebõlee keâe yeÌ{vee

(B)  peue ceW Jeeefnle ceue keâer meebõlee keâe yeÌ{vee

(C) met#cepeerJeer keâer pewefJekeâ ef›eâÙee ceW Je=efæ

(D)  Jeeefnle ceue DeheefMe° keâe pewJeerÙe efvecveerkeâjCe

11. SO
2 
SJeb veeFš^espeve kesâ DeewkeämeeF[ pees ceesšj JeenveeW

mess Glmeefpe&le nesles nQ, efkeâmekesâ keâejkeâ nw-

(A) Decue Je<ee&

(B) iueesyeue JeeefceËie

(C) lJeÛee keâe kewâvmej

(D) hesâheâÌ[eW keâe kewâvmej

12. efvecve ceW mes keâewve ØekeâeMe mebMues<eCe keâjves ceW me#ece
nw-
(A) meJee&nejer
(B) Meekeâenejer
(C) DeheIeškeâ
(D) mJele: heesef<ele

13. Sue-veervees efkeâmemes mecyeefvOele nw

(A) leehe Øeot<eCe

(B) ce=oe Øeot<eCe

(C) JeeÙeg Øeot<eCe

(D) OJeefve Øeot<eCe

14. cenemeeiej ceW lesue DeefOehueeJe keâes meeheâ keâjves Jeeuee

meghej yeie nw-
(A) SmÛeerefjefMeÙee keâesueeF&
(B) yemeerueme LetefjvpeerFvmeme
(C) heemÛegjsuee hesefmšme
(D) met[esceesveme hegefš[e
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15. Manure produced with the help of

earth worm is called –

(A) Fertilizer

(B) Vermi compost

(C) Compost

(D) Green manure

16. Ozone hole enhances

(A) UV radiations reaching earth

(B) Cataract in eye

(C) Skin cancer

(D) All the above

17. Chipko movement is related with

(A) Forest conservation

(B) Soil conservation

(C) Water conservation

(D) Population control

18. e-waste means-

(A) Radioactive waste

(B) Nuclear waste

(C) Both A and B

(D) Electronic waste

19. Solar energy, wind power and rain-

fall are all

(A) Inexhaustible natural resources

(B) Exhaustible natural resources

(C) None of the above

(D) Both of the above

20. Shifting cultivation (jhum) is respon-

sible for-

(A) Pollution

(B) Erosion

(C) Deforestation

(D) Afforestation

21. When the last individual of a taxon

is dead, it is said to be-

(A) Threatened

(B) Extinct

(C) Endangered

(D) Vulnerable

15. keWâÛegDee keâer ceoo mes yeves Keeo keâes keäÙee keânles nQ
(A) GJe&jkeâ
(B) Jeceeakeâcheesmš
(C) keâcheesmš

(D) nefjle Keeo

16. Deespeesve Úso yeÌ{elee nw-
(A) he=LJeer hej heÌ[ves Jeeueer UV efkeâjCeW
(B) DeeBKe keâe ceesefleÙeeefyevo
(C) lJeÛee keâe kewâvmej
(D) Ghejesòeâ meYeer

17. efÛehekeâes DeefYeÙeeve efkeâmemes mecyeefvOele nw
(A) Jeve mebj#eCe
(B) ce=oe mebj#eCe
(C) peue mebj#eCe
(D) pevemebKÙee efveÙev$eCe

18. F-DeheefMe° keâe leelheÙe& nw
(A) jsef[Ùeesmeef›eâÙe DeheefMe°
(B) hejceeCeg DeheefMe°
(C) oesveeW (A) SJe (B)

(D) Fueskeäš^eefvekeâ DeheefMe°
19. metÙe& Tpee&, JeeÙeg Meefòeâ SJeb Je<ee& meYeer-

(A) meceehle ve nesves Jeeueer Øeeke=âeflekeâ mecheoe

(B) meceehle nesves Jeeueer Øeeke=âeflekeâ mecheoe

(C) Ghejesòeâ keâesF& veneR

(D) Ghejesòeâ oesveeW
20. mLeeveevlejer ke=âef<e keâejCe nw-

(A) Øeot<eCe keâe

(B) Dehejove

(C) Jeveesvcetueve

(D) JevejesheCe
21. peye efkeâmeer šwkeämee keâe DeeefKejer meomÙe Yeer ce=le

nes peelee nw, Gmes keânles nQ-
(A) mebleefpe&le (LesÇšv[)
(B) efJeueghle
(C) ueghleØeeÙe
(D) megYesÅe
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22. IUCN stands for -

(A) International Union for Conser-

vation of Nature and Natural

Resources

(B) Indian Union for Conservation

of Nature

(C) International Union for Culture

and Nature

(D) Indian Union for Culture and

Nature

23. Fossil fuels and metallic minerals are

(A) Renewable resources

(B) None renewable resources

(C) Inexhaustible resources

(D) None of the above

24. Species confined to a particular

country are

(A) Exotic species

(B) Conserved species

(C) Inhouse species

(D) Endemic species

25. Western Ghats and Eastern

Himalayas are :

(A) Hot spots in India

(B) National parks

(C) Endangered areas

(D) Tourist spots

26. Botanical gardens, aquaria, seed

banks are -

(A) ex-situ approaches of conserv-

ing biodiversity

(B) In situ approaches of conserv-

ing biodiversity

(C) Parts of national parks

(D) all the above

27. Megadiversity zones refer to

(A) Areas with large number of plants

(B) Botanical gardens

(C) National parks

(D) Regions of the world with large

number of species

22. IUCN keâe leelheÙe& nw –

(A) FvšjvesMeveue ÙetefveÙeve heâe@j keâvpeJexMeve

Dee@Heâ vesÛej Sv[ vewÛegjue efjmeesme&pe

(B) Fefv[Ùeve ÙetefveÙeve heâe@j keâvpeJexMeve Dee@Heâ

vesÛej

(C) FvšjvesMeveue ÙetefveÙeve heâe@j keâuÛej Sb[

vesÛej

(D) Fefv[Ùeve ÙetefveÙeve heâe@j keâuÛej Sb[ vesÛej
23. peerJeeMce F&Oeve SJeb Oeeleg Keefvepe nQ-

(A) veJeerkeâjCeerÙe mecheoe
(B) DeveJeerkeâjCeerÙe mecheoe
(C) De#eÙe mecheoe
(D) Ghejesòeâ keâesF& veneR

24. efkeâmeer efJeMes<e osMe ceW meerefcele Øepeeefle keânueeleer nw
(A) DeYÙeeiele Øepeeefle
(B) mebjef#ele Øepeeefle
(C) Fve neGme Øepeeefle
(D) mLeeefvekeâ Øepeeefle

25. Jesmšve& (heef§eceer) Ieeš SJeb hetJeea efnceeueÙe nQ
(A) Yeejle ceW efÛeefvnle newš mheesš

(B) je°^erÙe GÅeeve

(C) ueghleØeeÙe #es$e

(D) heÙe&škeâ mLeue
26. Jevemheefle GÅeeve, ceÚueer Iej, yeerpe YeC[ej (yeQkeâ)

keäÙee nQ-

(A) pewJe efJeefJeOelee mebj#eCe keâer ex-situ efJeefOe

(B) pewJe efJeefJeOelee mebj#eCe keâer In situ efJeefOe

(C) vewMeveue GÅeeve kesâ Yeeie

(D) Ghejesòeâ meYeer
27. ceneefJeefJeOelee #es$e keäÙee nQ-

(A) #es$e efpemeceW yengle pÙeeoe mebKÙee ceW heewOes neW
(B) Jevemheefle GÅeeve
(C) je°^erÙe GÅeeve
(D) ogefveÙee kesâ Jees #es$e efpemeceW DelÙeefOekeâ mebKÙee

ceW Øepeeefle nes~
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28. National park concerned with rhinoc-

eros is –

(A) Corbett

(B) Ranthambore

(C) Kaziranga

(D) Gir

29. If all plants on earth die suddenly,

all animals will die due to deficiency

of-

(A) Food (B) Oxygen

(C) Shelter (D) Timber

30. Which of the following dissolves in

blood haemoglobin more rapidly than

oxygen?

(A) Sulphur dioxide

(B) Ozone

(C) Carbon monoxide

(D) Nitrous oxide

31. Sound becomes hazardous noise

pollution at decibels-

(A) Above 30 (B) Above 80

(C) Above 100 (D) Above 120

32. A community which starts succes-

sion in a habitat is

(A) Pioneer community

(B) Seral community

(C) Biotic community

(D) Ecological community

33. Plant succession occurring in a sandy

area is –

(A) Psammosere

(B) Halosere

(C) Xerosere

(D) Hydrosere

34. Climax vegetation of a region is gen-

erally-

(A) Xerophytic

(B) Hydrophytic

(C) Mesophytic

(D) Depends on the climate

28. ieQ[e (jeFveesefmejesme) mes mecyeefvOele je°^erÙe heeke&â
nw-
(A) keâewyexš
(B) jvLeceyeesj
(C) keâepeerjbiee
(D) ieerj

29. DeÛeevekeâ Deiej he=LJeer hej meYeer heewOes cej peeles nQ
lees efkeâme Ûeerpe keâer keâceer mes meejs peeveJej cej
peeÙesiebs~
(A) Yeespeve (B) Deekeämeerpeve
(C) DeeßeÙe (D) uekeâÌ[er

30. efvecve ceW mes keâewve jòeâ kesâ nerceesiueesefyeve ceW
Deekeämeerpeve mes pÙeeoe lespe ieefle mes IegueveMeerue nes
peelee nw –
(A) meuheâj [eÙekeämeeF[
(B) Deespeesve
(C) keâeye&ve ceesveeskeämeeF[
(D) veeFš^me DeekeämeeF[

31. efkeâleves [smeeryeue hej OJeefve neefvekeâejkeâ Øeot<eCe
yeve peeleer nw-
(A) 30 kesâ Thej (B) 80 kesâ Thej
(C) 100 kesâ Thej (D) 120 kesâ Thej

32. efkeâmeer mLeeve hej Deveg›eâceCe DeejcYe keâjves Jeeues
mecegoeÙe nQ-
(A) De«eCeer (ØeLece) mecegoeÙe
(B) mebßesCeer mecegoeÙe
(C) pewefJekeâ mecegoeÙe
(D) heeefjefmLeeflekeâer mecegoeÙe

33. yeeuet Jeeues #es$e ceW nesves Jeeues heeohe Deveg›eâceCe keâes
keânles nQ-
(A) mewceesefmeÙej (yeeuegkeâerÙe ›eâcekeâ)
(B) ueJeCees›eâcekeâ
(C) ce™›eâcekeâ
(D) peueeso›eâcekeâ

34. efkeâmeer #es$e keâer Deefvlece (Ûejceeslkeâ<e&) Jevemheefle
meeceevÙele: nesleer nw-
(A) ce™odefYeöerÙe
(B) peueesodefYeöerÙe
(C) meceesodefYeöerÙe
(D) JeeleeJejCe hej efveYe&j keâjlee nw
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35. Overgrazing results in-

(A) Soil pollution

(B) Soil erosion

(C) Thermal pollution

(D) Change in soil fertility

36. Biodegradable pollutant is –

(A) Plastic (B) Asbestos

(C) Sewage (D) Mercury

37. Siberian Crane is a regular visitor of

bird sanctuary –

(A) Ranganathitoo (Karnataka)

(B) Bharatpur (Rajasthan)

(C) Vedanthgol  (T.N)

(D) Lalbagh (Karnataka)

38. Water logging commonly occurs in-

(A) Sandy soil

(B) Gravelly soil

(C) Clay soil

(D) Loam soil

39. Terrace farming is practised in –

(A) Coastal Areas

(B) Deserts

(C) Hills

(D) Plains

40. Both power and manure is provided

by –

(A) Nuclear plants

(B) Biogas plants

(C) Thermal plants

(D) Hydroelectric plants

41. The best soil for healthy growth of

most plants is-

(A) Clay soil (B) Sand

(C) Loam (D) Soline soil

42. Which ecological pyramid is always

straight?

(A) Pyramid of biomass

(B) Pyramid of numbers

(C) Pyramid of energy

(D) Pyramid of biomass and energy

35. DeefleÛeejCe keâer Jepen mes neslee nw-
(A) ce=oe Øeot<eCe
(B) ce=oe Dehejove
(C) Lece&ue Øeot<eCe
(D)  ce=oe GJe&jlee ceW heefjJele&ve

36. pewJe DeheIeškeâerÙe Øeot<eCe nw-
(A) hueeefmškeâ (B) Smyesmšme
(C) ceue (D) cejkeäÙejer

37. efkeâme he#eer efJenej ceW meeFyesefjÙeve ›esâve efveÙeefcele
Deeievlegkeâ nQ –
(A) jbieveeefLešt  (keâvee&škeâ)
(B) Yejlehegj (jepemLeeve)
(C) Jesoebleieesue (leefceuevee[g)
(D) ueeueyeeie (keâvee&škeâ)

38. peuee›eâeefvle meeceevÙele: keâneB nesleer nw -
(A) yeeuegner ce=oe
(B) heLejerueer ce=oe
(C) efÛekeâveer ce=oe
(D) ogceš ce=oe

39. Jesefokeâe (šsjme) Kesleer keâneB nesleer nw-
(A) lešerÙe #es$e
(B) jsefiemleeve
(C) heneÌ[ hej
(D) cewoeve

40. Meefòeâ Deewj Keeo oesveeW Øeehle nesles nQ -

(A) hejceeCeg mebÙe$e

(B) yeeÙeesiewme mebÙe$e

(C) T<ceerÙe mebÙe$e

(D) heveefyepeueer meÙeb$e
41. DeefOekeâebMe heewOeeW kesâ mJemLe efJekeâeme nsleg keâewve meer

ce=oe Gòece nQ-
(A) efÛekeâveer ce=oe (B) yeeuet
(C) oesceš (ueesce) (D) Keejer ce=oe

42. keâewve mee heeefjefmLeleerkeâerÙe efhejeefce[ meJe&oe meerOee
neslee nw -
(A) yeeÙeesceeme keâe efhejeefce[
(B) mebKÙee keâe efhejeefce[
(C) Tpee& keâe efhejeefce[
(D) yeeÙeesceeme SJeb Tpee& keâe efhejeefce[



A-337[ 8 ]P.T.O.

43. Most stable ecosystem is-

(A) Forest (B) Desert

(C) Ocean (D) Mountain

44. Which of the following is an abiotic

component of the ecosystem?

(A) Bacteria (B) Humus

(C) Plants (D) Fungi

45. Mangrove plants have -

(A) Pneumatophores

(B) Tap root system

(C) Storage roots

(D) None of the above

46. CIMAP is situated in-

(A) London (B) Delhi

(C) Mumbai (D) Lucknow

47. Lux-meter is used to measure the

(A) Intensity of light

(B) Turbidity of water

(C) Speed of wind

(D) Flow of water

48. Common indicator organism of wa-

ter pollution is -

(A) Cholera vibrio

(B) Salmonella typhi

(C) Escherichia coli

(D) Entamoeba histolystica

49. Methane gas is produced in-

(A) Wheat field

(B) Paddy field

(C) Ground not field

(D) Potato field

50. Green house effect is related to-

(A) Increased growth of green al-

gae

(B) Global warming

(C) Painting houses green in colour

(D) Developing of gardens at home

43. meyemes DeefOekeâ mLeeÙeer heeefjefmLeeflekeâ lev$e nw-
(A) Jeve (B) jsefiemleeve
(C) meeiej (D) heneÌ[

44. efvecve ceW mes keâewve heeefjefmLeeflekeâ lev$e keâe DepewJeerÙe
Ieškeâ nw-
(A) peerJeeCeg (B) nÙetceme
(C) heeohe (D) keâJekeâ

45. iejeve (ceQ«eesJe) heewOeeW ceW neslee nw -
(A) Õemeve cetue
(B) šwhe cetue lev$e
(C) mebÛeÙeve cetue
(D) Ghejessòeâ keâesF& veneR

46. meercewhe (CIMAP) keâneB efmLele nw -
(A) uevove (B) efouueer

(C) cegcyeF& (D) ueKeveT
47. uekeäme-ceeršj efkeâmekeâe ceehe keâjves ceW ØeÙeesie neslee nw-

(A) ØekeâeMe keâer leer›elee
(B) peue keâer DeeefJeuelee
(C) JeeÙeg keâer ieefle
(D) peue keâe yeneJe

48. peue Øeot<eCe keâe meeceevÙe metÛekeâ peerJe nw-
(A) keâeueje efyeyeÇÙees

(B) meeueceesvesuee šeFheâeF&

(C) SmÛesefjefMeÙee keâesueeF&

(D) SvšDeceeryee efnmšesefueefmškeâe
49. ceerLesve iewme keâe Glheeove neslee nw-

(A) iesn@t kesâ Kesle ceW
(B) Oeeve kesâ Kesle ceWb
(C) cet@ieheâueer kesâ Kesle ceW
(D) Deeuet kesâ Kesle ceW

50. «eerve neGme ØeYeeJe keâe mecyevOe efkeâmemes nw-

(A) nefjle MewJeeue keâer efJekeâeme ceW Je=efæ

(B) iueesyeue JeeefceËie

(C) IejeW keâe njs jbie mes jbievee

(D) ie=n GÅeeve keâes efJekeâefmele keâjvee
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51. The concept of Karma, Gyan and

Bhakti is mentioned in:

(A) Astadhyayi

(B) Bhagvadagita

(C) Arthasastra

(D) Kadambari

52. The Indus Valley civilisation was pri-

marily a :

(A) Village culture

(B) Semi-village culture

(C) Urban Civilisation

(D) None of the above

53. The people of Indus Valley civilisation

built up their houses of :

(A) Stones

(B) Mud

(C) Unbaked bricks

(D) Baked bricks

54. The metal not known to the people

of Indus Valley civilisation was :

(A) Copper

(B) Bronze

(C) Iron

(D) Gold

55. The religion of the Indus Valley

people was primarily based on :

(A) The worship of nature

(B) The worship of fire

(C) The sacrifices

(D) The worship of Pashupati and

Mother Goddess

56. The only source of knowing the cul-

ture of early Vedic age is :

(A) The Rigveda

(B) The Epics

(C) Excavations

(D) The Puranas

51. keâce&, %eeve Deewj Yeefòeâ keâer DeJeOeejCee nw :

(A) De°eOÙeeÙeer

(B)  YeieJeodieerlee

(C) DeLe&MeeŒe

(D)  keâeocyejer
52. efmevOeg meYÙelee cegKÙe ™he mes Leer:

(A) «eeceerCe meYÙelee

(B) Deæ&-«eeceerCe mebmke=âefle

(C) veiej meYÙelee

(D)  Ghejesòeâ cesW mes keâesF& veneR

53. efmevOeg meYÙelee kesâ efveJeemeer Deheves Iej efkeâmemes
yeveeles Les?
(A) helLej
(B) efceóer
(C) keâÛÛeer FËš
(D) hekeâer FËš

54. efmevOeg meYÙelee kesâ efveJeemeer efkeâme Oeeleg mes heefjefÛele
veneR Les :
(A) leeceü
(B) keâebmÙe
(C) ueewn
(D)  mJeCe&

55. efmevOeg meYÙelee kesâ ueesieeW keâe Oece& cegKÙele: DeeOeeefjle
Lee :

(A) Øeke=âefle hetpee hej

(B) Deefive hetpee hej

(C) Ùe%e hej

(D) heMegheefle Deewj ceele=osJeer keâer Gheemevee hej

56. ØeejefcYekeâ Jewefokeâ keâeueerve mebmke=âefle keâes peeveves
keâe cee$e meeOeve nw :
(A) $e+iJeso
(B)  cenekeâeJÙe
(C) GlKeveve
(D) hegjeCe

      Section - B  : Rashtra Gaurav

KeC[ - ye : je°^ ieewjJe
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57. Which among the following was the

real name of Buddha?

(A) Siddhartha

(B) Mahavira

(C) Tathagata

(D) Gautama

58. Buddha preached his first sermon

at :

(A) Bodhgaya

(B) Sarnath

(C) Kushinagar

(D) Vaisali

59. Jain Tirthankara Mahavira was born

at :

(A) Vaisali

(B) Kapilavastu

(C) Sravasti

(D) Kundigrama

60. Who was the author of Arthasastra?

(A) Chanakya (Kautilya)

(B) Rakshasa

(C) Bhasa

(D) Bana

61. The finest specimen of Asoka's pil-

lar has been found at :

(A) Gaya

(B) Sarnath

(C) Bharhut

(D) Sanchi

62. The shape of famous Stupa at

Sanchi is :

(A) Square

(B) Rectangular

(C) Semi-circular

(D) Elongated

57. yegæ keâe JeemleefJekeâ veece Lee :

(A) efmeæeLe&

(B) ceneJeerj

(C) leLeeiele

(D)  ieewlece

58. yegæ ves ØeLece OeceexheosMe keâneB efoÙee?

(A) yeesOeieÙee

(B)   meejveeLe

(C) kegâMeerveiej

(D)  JewMeeueer

59. pewve leerLeËkeâj ceneJeerj keâe pevce keâneb ngDee Lee?

(A) JewMeeueer

(B) keâefheueJemleg

(C) ßeeJemleer

(D)  kegâefC[«eece

 60. DeLe&MeeŒe keâe uesKekeâ keâewve Lee?
(A) ÛeeCekeäÙe (keâewefšuÙe)

(B)   je#eme

(C) Yeeme

(D)   yeeCe
61. DeMeeskeâ kesâ mlecYe keâe meJeexòece GoenjCe keâneb mes

efceuee nw?

(A) ieÙee

(B) meejveeLe

(C) Yejngle

(D) meebÛeer
62. meebÛeer kesâ Øeefmeæ mlethe keâe Deekeâej efkeâme Øekeâej

keâe nw?
(A) Jeiee&keâej
(B) DeeÙeleekeâej
(C) Deæ&Je=òeekeâej
(D) DeC[ekeâej
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63. The greatest literary figure of Gupta

age was :

(A) Vasubandhu

(B) Kalidasa

(C) Chanakya

(D) Dharmapala

64. The first greatest Indian Mathema-

tician was:

(A) Brahmagupta

(B) Varahamihira

(C) Vijayananda

(D) Aryabhatta

65. The author of Abhigyansakuntalam:

(A) Kalidasa

(B) Bhavabhuti

(C) Bhasa

(D) Harsha

66. To which branch of Science

Hastyayurveda belongs:

(A) Medical Science

(B) Chemistry

(C) Veterinary Science

(D) Astrology

67. Surya Siddhanta was the work of :

(A) Varahamihira

(B) Aryabhatta

(C) Susruta

(D) Charaka

68. The Sun Temple of Konarak is in the

state of :

(A) Odisha

(B) Kashmir

(C) Madhya Pradesh

(D) Bihar

69. In which state of India was the

Nalanda University situated :

(A) Uttar Pradesh

(B) Bihar

(C) Bengal

(D) Sdisha

63. ieghlekeâeue keâer cenevelece meeefnlÙekeâ efJeYetefle keâewve
Les?
(A) JemegyevOeg
(B) keâeefueoeme
(C) ÛeeCekeäÙe
(D) Oece&heeue

64. ØeLece cenevelece ieefCele%e keâewve Les?
(A) yeÇÿeieghle
(B) Jejenefceefnj
(C) efJepeÙevevo
(D) DeeÙe&Yeó

65. DeefYe%eeveMeekegâvleueced kesâ jÛeveekeâej nQ :
(A) keâeefueoeme
(B) YeJeYetefle
(C) Yeeme
(D) n<e&

 66. efJe%eeve keâer efkeâme MeeKee mes nmlÙeeÙegJexo mecyeefvOele
nw?
(A) efÛeefkeâlmee efJe%eeve
(B) jmeeÙeve efJe%eeve
(C) heMeg efÛeefkeâlmee efJe%eeve
(D) pÙeesefleefJe&%eeve

67. metÙe& efmeæevle kesâ jÛeveekeâej Les :
(A) Jejenefceefnj
(B) DeeÙe&Yeó
(C) megßegle
(D) Ûejkeâ

68. keâesCeeke&â keâe metÙe& cebefoj efkeâme jepÙe ceW nw :

(A) GÌ[ermee

(B) keâMceerj

(C) ceOÙe ØeosMe

(D) efyenej
69. veeuevoe efJeMJeefJeÅeeueÙe Yeejle kesâ efkeâme ØeosMe ceW

efmLele nw :
(A) Gòej ØeosMe
(B) efyenej
(C) yebieeue
(D) GÌ[ermee
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70. Which Samsakara was performed

after the completion of education in

Gurukul?

(A) Samavartana

(B) Upanayana

(C) Seemantonnayana

(D) Mundana

71. Which one of the following text is

not related to Chemistry?

(A) Chhandogya Upanishada

(B) Charaka Samhita

(C) Manusmriti

(D) Rasaratnakara

72. Harappa is situated on the bank of

river :

(A) Yamuna

(B) Ganga

(C) Sindhu

(D) Ravi

73. Which one is not related to Astrol-

ogy?

(A) Surya Siddhanta

(B) Aryabhattiya

(C) Hora

(D) Shalya Chikitsa

74. Which Samskara is related to edu-

cation?

(A) Punsavana

(B) Vivaha

(C) Namakarana

(D) Upanayana

75. How many Puranas are there?

(A) 20

(B) 14

(C) 16

(D) 18

70. ieg™kegâue ceW efMe#ee hetCe& keâjves kesâ Ghejevle keâewve

mebmkeâej efkeâÙee peelee Lee?

(A) meceeJele&ve

(B) GheveÙeve

(C) meerceevleesVeÙeve

(D) cegC[ve
71. efvecveefueefKele ceW mes keâewve mee «evLe jmeeÙeveMeeŒe

mes mecyeefvOele veneR nw?
(A) ÚevoesiÙe GheefveMeo
(B) Ûejkeâ mebefnlee
(C) cevegmce=efle
 (D) jmejlveekeâj

72. nÌ[hhee efkeâme veoer kesâ leš hej efmLele nw?

(A) Ùecegvee

(B) iebiee

(C) efmevOeg

(D) jeJeer
73. keâewve pÙeesefle<e mes mecyeefvOele veneR nw?

(A) metÙe& efmeæevle

(B) DeeÙe&YeóerÙe

(C) nesje

(D) MeuÙe efÛeefkeâlmee

74. keâewve mee mebmkeâej efMe#ee mes mecyeefvOele Lee?

(A) hegbmeJeve

(B) efJeJeen

(C) veecekeâjCe

(D) GheveÙeve

75. hegjeCeeW keâer mebKÙee efkeâleveer nw?
(A) 20
(B) 14
(C) 16
(D) 18
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76. The most ancient text mentioning

metals is :

(A) Arthasastra

(B) Yajurveda

(C) Ramayana

(D) Mahabharata

77. By which name chemistry was known

in ancient period?

(A) Dhatu sastra

(B) Parada sastra

(C) Tarala Sastra

(D) None of these

78. Main text of Vastu-Vidya is:

(A) Ramayana

(B) Mahabharata

(C) Samarangana Sutradhara

(D) Ashtadhyayi

79. Which of the following institution

used to perform justice?

(A) Vidatha

(B) Sabha

(C) Samiti

(D) Paura-Janapada

80. Which of the following was not re-

public?

(A) Lichchhivis

(B) Mallas

(C) Shakyas

(D) Magadha

81. How many republican states were

existing during the 6
th 

 cent. B.C.?

(A) 10

(B) 12

(C) 9

(D) 13

76. OeelegDeeW keâe %eeve keâjeves Jeeuee ØeeÛeervelece «evLe
nw?
(A) DeLe&MeeŒe
(B) ÙepegJexo
(C) jeceeÙeCe
(D) ceneYeejle

77. ØeeÛeerve Yeejle ceW jmeeÙeveMeeŒe efkeâme veece mes
peevee peelee Lee?
(A) OeelegMeeŒe
(B) heejoMeeŒe
(C) lejueMeeŒe
(D) FveceW mes keâesF& veneR

78. JeemlegefJeÅee keâe ØecegKe «evLe nw :

(A) jeceeÙeCe

(B) ceneYeejle

(C) mecejebieCe met$eOeej

(D) De°eOÙeeÙeerr
79. keâewve meer mebmLee vÙeeÙe keâe keâeÙe& keâjleer Leer?

(A) efJeoLe

(B) meYee

(C) meefceefle

(D) heewj-peeveheo

80. efvecveefueefKele ceW mes keâewve ieCejepÙe veneR Lee?

(A) efueÛÚefJe

(B) ceuue

(C) MeekeäÙe

(D) ceieOe

81. Ú"er Meleeyoer F&.het. cebs efkeâleves ieCejepÙe Les?

(A) 10

(B) 12

(C) 9

(D) 13
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82. How many parts of a state are men-

tioned in the Arthasastra of Kautilya

(A) 5

(B) 7

(C) 6

(D) 8

83. Which of the following dynasty is-

sued gold coins first of all?

(A) Mauryan

(B) Sungas

(C) Kushanas

(D) None of them

84. Which one of the following is Hindu

code of conduct?

(A) Rigveda

(B) Ramayana

(C) Manusmriti

(D) Upanishada

85. The so called Universities of Nalanda

and Vikramasila were actually:

(A) Temples

(B) Towns

(C) Fortified cities

(D) Buddhist monasteries

86. The University of Nalanda was es-

tablished during the period of :

(A) Mauryan

(B) Palas

(C) Guptas

(D) Kushanas

87. In which University the Chinese trav-

eller Hiuen-Tsang was educated?

(A) Taxila

(B) Vikramasila

(C) Nalanda

(D) Vallabhi

82. keâewefšuÙe kesâ DeLe&MeeŒe ceW jepÙe kesâ efkeâleves Debie
yeleeÙes ieÙes nQ?
(A) 5
(B) 7
(C) 6
(D) 8

83. efvecveefueefKele ceW mes efkeâme jepeJebMe ves meJe&ØeLece
mJeCe& cegõeSb ÛeueeF&?
(A) ceewÙe&
(B) Megbie
(C) kegâ<eeCe
(D) FveceWW mes keâesF& veneR

84. efvecveefueefKele ceW mes keâewve efnvot DeeÛeej-mebefnlee nw

(A) $e+iJeso

(B) jeceeÙeCe

(C) cevegmce=efle

(D) Gheefve<eo
85. leLeekeâefLele veeuevoe Deewj efJe›eâceefMeuee efJeÕeefJeÅeeueÙe

Jemlegle: keäÙee Les?
(A) ceefvoj
(B)  keâmyes
(C) ogie&-veiej
(D)  yeewæ ceneefJenej

86. veeuevoe efJeMJeefJeÅeeueÙe keâer mLeehevee efkeâme jepeJebMe
kesâ keâeue ceW ngF& Leer?
(A) ceewÙe&
(B) heeue
(C) ieghle
(D) kegâ<eeCe

87. Ûeerveer Ùee$eer £svemeebie keâer efMe#ee efkeâme efJeMJeefJeÅeeueÙe
ceW ngF& Leer?
(A) le#eefMeuee
(B) efJe›eâceefMeuee
(C) veeuevoe
(D) JeuueYeer
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88. The main centre of ecucation of Bud-

dhist philosophy in ancient India

was:

(A) Nalanda

(B) Anga

(C) Mathura

(D) Magadha

89. The 'Mandala' was supposed to con-

sist usually of :

(A) Six kings

(B) Ten kings

(C) Eleven kings

(D) Twelve kings

90. Which one of the following is not

mentioned among the seven angas

of the state?

(A) Swami

(B) Amatya

(C) Guptachara

(D) Durga

91. The number of Mahajanapadas dur-

ing the sixth century B.C. was :

(A) 11

(B) 8

(C) 16

(D) 10

92. The contract theory of the origin of

the state is mentioned in :

(A) Rigveda

(B) Satapatha Brahmana

(C) Shantiparva

(D) Chhandogya Upanishada

93. By what name were the people who

made earthen pot known in ancient

India

(A) Chrmakara

(B) Hiranyakara

(C) Takshaka

(D) Kulala

88. ØeeÛeerve Yeejle cebs yeewæ oMe&ve keâe ØecegKe efMe#ee
kesâvõ Lee :

(A) veeuevoe

(B) Debie

(C) ceLegje

(D) ceieOe
 89. ceC[ue kesâ Devleie&le ØeeÙe: efkeâleves MeemekeâeW keâes

meefcceefuele efkeâÙee ieÙee Lee?
(A) Ú:
(B) ome
(C) iÙeejn
(D) yeejn

90. efvecveefueefKele ceW mes efkeâmekeâe GuuesKe jepÙe kesâ
meele DebieeW ceW veneR efkeâÙee ieÙee nw?

(A) mJeeceer

(B) DeceelÙe

(C) ieghleÛej

(D) ogie&
91. Ú"er Meleeyoer F&.het. ceW Gòej Yeejle ceW cenepeveheoeW

keâer mebKÙee Leer :
(A) 11
(B) 8
(C) 16
(D) 10

92. jepÙe kesâ Glheefòe kesâ Devleie&le DevegyevOe efmeæevle
keâe GuuesKe keâneB nw?
(A) $e+iJeso
(B) MeleheLe yeÇeÿeCe
(C) MeeefvleheJe&
(D) ÚevoesiÙe Gheefve<eo

93. ØeeÛeervekeâeue ceW efceóer kesâ yele&ve yeveeves Jeeues keâes

keäÙee keânles Les?

(A) Ûece&keâej

(B) efnjCÙekeâej

(C) le#ekeâ

(D) kegâueeue
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94. Asoka's daughter who visited sri

Lanka was :

(A) Sanghamitra

(B) Charumati

(C) Prabhavati

(D) None of them

95. Which one is not mentioned in the

Vedas?

(A) Grama panchayata

(B) Sabha

(C) Samiti

(D) Vidatha

96. The term 'Rashtra' first appears in :

(A) Vedic period

(B) Epic period

(C) Mauryan period

(D) Gupta period

97. Who were allowed to take part in

'Vidatha' during the vedic period?

(A) All men

(B) All women

(C) Men and women both

(D) Member of the royal family

98. Who is called 'Devanampiya' in his

inscriptions?

(A) Asoka

(B) Mihirabhoja

(C) Samudragupta

(D) Harsha

99. Number of Purusharthas is :

(A) 4 (B) 3

(C) 2 (D) 1

100.Artha and Kama purushartas are re-

lated to :

(A) Brahmacharya ashrama

(B) Grihastha ashrama

(C) Vanaprastha ashrama

(D) Sanyasa ashrama

94. DeMeeskeâ keâer heg$eer ßeeruebkeâe ieÙeer Leer?

(A) mebIeefce$ee

(B) Ûee™celeer

(C) ØeYeeJeleer

(D) keâesF& veneR

95. efkeâmekeâe GuuesKe Jeso ceW veneR nw?

(A) «eece hebÛeeÙele

 (B) meYee

(C) meefceefle

(D) efJeoLe
96. ‘je°^’ Meyo keâe ØeÙeesie meyemes henues efkeâme keâeue ceW

efkeâÙee ieÙee nw?
(A) Jewefokeâ keâeue
(B) cenekeâeJÙe
(C) ceewÙe& keâeue
(D) ieghle keâeue

97. Jewefokeâ keâeue ceW ‘efJeoLe’ ceW Yeeie uesves kesâ efueS keâewve
ueesie DeefOeke=âle Les?
(A) meYeer heg™<e
(B) meYeer efŒeÙeeB
(C) heg™<e SJeb efŒeÙeeB oesveeW
(D) jepe heefjJeej kesâ meomÙe

98. efkeâmes Gmekesâ DeefYeuesKeeW ceW ‘‘osJeevebefheÙe’’ keâne ieÙee
nw?
(A) DeMeeskeâ
(B) efceefnjYeespe
(C) mecegõieghle
(D) n<e&

99. heg™<eeLeex keâer mebKÙee nw :
(A) 4 (B) 3

(C) 2 (D) 1
100.DeLe& Deewj keâece het™<eeLe& mecyeefvOele nw :

(A) yeÇÿeÛeÙee&ßece

(B) ie=nmLeeßece

(C) JeeveØemLeeßece

(D) mebvÙeeme


